e3an Multiple Choice Question Template

http://www.ecs.soton.ac.uk/e3an/Templates/e3an_mcq.dot

Question Identifier
SJW29
Item
1
of
1

The Question

Question Stem

A second-order low pass Butterworth filter has normalised transfer function
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Using the Bilinear transformation, obtain the transfer function of a high pass digital Butterworth filter given a sampling rate of 8kHz and a cutoff frequency of 1.6kHz.



Copy of Graphic for question 



Picture File for question (e.g. DavisHC05PIC1.gif)



Possible Answers (Note that generally an MCQ should have 5 possible answers)
Answer A (which may be/include a picture)
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Picture File for Answer A (Either as whole answer or as well as text above) (e.g. DavisHC05PIC2.gif)



Feedback A



Answer B (which may be/include a picture)
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Picture File B (e.g. DavisHC05PIC3.gif)



Feedback B

You have designed a LOW PASS filter.

Answer C (which may be/include a picture)
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Picture File C



Feedback C

Correct

Answer D (which may be/include a picture)
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Picture File D



Feedback D

You may have forgotten to pre-warp the cutoff frequency

Answer E (which may be/include a picture)
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Picture File E



Feedback E



Answer F (which may be/include a picture)



Picture File F



Feedback F



The Answer

What is the Correct Answer? (A-F)
C




Can the order of the answers be randomised? (Yes/No)
Yes

Notes for Tutors on Question (Working for answer etc.)

Pre-warping 
[image: image7.wmf]7265
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The required low pass to high pass frequency transformation is 
[image: image8.wmf]s

s

p

'

w

®


Giving a de-normalised transfer function 
[image: image9.wmf]5279
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Using the Bilinear transformation
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Picture File used in notes (e.g. scanned worked answer) (e.g. DavisHC05PIC8.gif)
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